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ﬂ)fDm@DDDDDDDDD(y%wﬂ@w:f@MDDDDDDDDDDD
x?y - a?
(2) f0 DOOODOOOOOfO0DOOO (6,b))000000000000

f0DOD0O0OO0OO0OOOOO0OODOOOOOOOOOOOODOOOOOD
V(a,b) € DVe > 030> 0¥(a,y) € D (|(wy) — (a.b)]| < 6 = [f(a,y) — F(a,b)] < <)

x000 ¢(z) 000 y0O00Y(y)0 100000000000 0O0O0O0O0O0ODO (z,y)0000O
000000000000 0¢(x) 000 y0000D0OO0DOOO0OOO0OOOODOODOD200000
gboboobobooobooob4300000000000000000O00O0DO0O0O00O0OO200000
gbooobg22000000000000000000 230000000000000000
goboobogooooobooobooboood

00 4.1 f=f(z,y) 0 R2000 DOOOOO0O0O0O0O0O¢=¢(t),y =¢(¢) 0001000
00000000 (¢(t),¢(t) e D (Ve )O0O0D0000000000000F(t):= f(¢(t),1(t))
00000000 FOOOOO /0000000

041 0041000000

042 0410000000000000000000000O0O00

(1) 00000000 fO0R?20000000
$2y
fla,y) =3 =+

(2) 00 e«e0000OO0OO0O00O0OOODOOOOOOODODO fO(O,0)ODDODOOOOO

e (@) #00)
f( 7y) { a ((x,y) — (0,0))
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042 00000000 R?20000 f0(0,0)0000000000000000000

2 (@) #(0,0))

1 z, — <+
( ) f( y) { 0 ! ((x,y):(oao))
o= | T (@) £0.0)
(2) f(z,y) {0 Y ((z,y) = (0,0))

4.2 0O00OO0O0OO
00 44 DOR20000(eb)eDO00 f=f(z,y)0 DOOODOODO 200000000

(1) fO (e,b)0 2000 y0000O00OOO0OOODOOOOOOODODOOO

8f _ BT f(a+h7b)_f(aab)
57 (@ 0) = fola,b) = lim Y
8f o 1 f(a,b+h)—f(a,b)
8_y(a’b) = fy(a,b) == %{% h

0000000000000000 £,(a,0) 000 f,(a,0) 00000 (a,b) 0000 f0
000y0000000000000

(2) f0 DO 2000y0000000000000000000 f0DOOOO 2000y
00000000000000000000000D000 (2,9)0 folz,y) 000 f(z,y)
00000000 f, f,0000000000 f02000y0000000000000
00000200000

0 0 0 0
fxz—%fxy fxy—a_yfxa fyx—%fya fyy—a_yfy

gbbogobooburnbboobboobuoobboboboobbooobod

3) f0DOnOOODOOOODOOODO fODODCMOUOOOOOfORODOOODODOOO
0000000000000 00000ooOopDpOD CcrooOOoOoOoDODoOOoOO C™(D)CoO
ooboooofO0 pOoobooOOOOO0OOOOOD fODOC*OOOOODOfOODOO
0000000000000 0000000O0O0DO C*00000oOoooon Cc=(Db)UO
uod

ubbodbboobbuoobboobooboboobboobbudobb 0000 yO U
gbooboooobooboboboboobobooboooobobooboboloboboong
gboooboboobooobobdz000b000DO0ODODO0ObO0OD0DbODLOO0OyDOODOO
gbbodbtb«suogbbobbuoabboobooboo

0 4.3 f(z,y)=log(a®+y*) 000000000 100002000000

B 0, 5 9y 2w
fx($7y)_x2_’_y28x(x +y)_:c2+y2
0 2x 2 2x)2 2(y? — 2?2
fm(%y):_( 2 2)2 2 2 2( )22: (2 22)
oz \z2 +y 22+ y2 (22 +y?) (22 +y?)
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0000000000 0000000000020 yO0OOO000000 fyy(x,y):%
00000000000000000000 f(z,y) = log(a? +y?) O

Joz(,y) + fyy(z,y) =0

U00Db0O0DbO Laplacel DD ODUOODOODOODOooooooooooooooboboboobO
ggboogbboooboooo

043 0000000020000 f=f(z,y) 00000 f,000 f,000000

(1) flz,y)=2Y (z>0)
(2) f($7 y) = arctan% (y 7& 0)
(3) f(z,y) = { % ((z,y) # (0,0))

200000 fxy(.%',y)DDD fyx(.%',y)DDDDDDDD fxy(x,y):fyx(x,y)DDDDDDD
gooooooobb. 00000000y 0O0OODOOOOO fxyDDDDDDDDDDDDD
U0y0ooooobb zs000gooog fyxDDDDDDDDDDDDDDDDDDDDDD
goooooooooooooooooooooooooooobooobooooobooobooooboooo

gobobooobooobbooobooobbooobbooobooooobobooooboboo
gogbodgboooboooboobbooboobboobuoobboood

00 4.2 f=f(z,y) D R?000 DO0O0O00O00O000000000 fo, fre 0 DOOOD
00 (a,6) 0000000 fay(a,b) = fue(a,b) 000000

00 pOODO0O0O0O0O0OOOOOOO0OOr>00000 (e,b)00000O0OOO »O0O By(a,d)
000 DO0O00O000000OVAR+k<r000000000 AEKODDOOOO g=g(h,k)
gooboooood

g(hvk) ::f(a+hab+k)_f(aab+k)_f(a+h7b)+f(aab)
DDDDD¢($)::f(l‘,b-f—k)—f(JU,b)DDDDDDDDDDDD edooonooon

g(hvk) :¢(a+h) _¢(a) :¢/(a+91h)h
= (fala +01h,b+ k) — fu(a+61h,b))h
:f:vy(a+01h,b+92k‘)hk
oooOono 91,02G(O,l)DDDDDDDDDDDDfxyD (a,b)DDDDDDDDD

. glh,k) .
lim = lim
(h,k)—(0,0) hk (h,k)—(0,0)

fxy(a+91hab+‘92k) = fxy(avb) (4'1)

0000000000v%(y) = fla+hy)— fle,y) 0000000000000000

g(h, k) = (b + k) — (b)) = ¢'(b+ O3k)k
= (fyla+ h,b+ 0sk) — f,(a,b+ Osk))k
= fyx(a + 04h, b+ 03]§)hk
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0o0o00es,6,€(0,1)00000000000Of,0 (e,b)000000000

g(h, k) .
- 1 z O3h,b + 04k) = fya(a,b 4.2
=00 Bk (k) —(00) fya(a+03h,b+ 04k) = fye(a,b) (4.2)

0000(41)000 (42) 00 foy(a,b) = fye(a,d) 00000000

O0000oooooooo0df=f(z,yy O DO C'OODOOO0fO0nOOOOOOOOOO
g0000OOO0oOO000DOOO000ODOOOO00ODOO00ODOOoOOODOoOboDOOgro
C300000000300000000000000000

fxzy:fxy:p:fyxma fxyy:fyxy:fyyx

oooooboooofOCcrOO0O00OO00OO0OfDODO0D000mMOO0y0O0OO0ODO!O0OODODO
m+I<n000000000000000O00000

8m+l f m—+1

oodld w—==
8xm8yl (:U?y) axmayl f(l',y)

o000 fy=f.0000000000000000000000

044 00000000 R20000 f= f(z,y) 00000 f,,(0,0) = 00 f,,(0,0) =100 0
000O0000O0

3

v =4 7z (@y) #(0,0)

0000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000
00000010000 f00000 f(e)00000000 y=f(z)00000 (a,f(a))00
000000000000000000000000000000000000000 y= /()
000000000000000000000

00000020000 f=f(sy)0000000000000000000 f0 (a,b)00
000000000300000000000 2= f(s,y) 00000000000000000
0000000000000000000000000002000000000000000
oooooo

00 45 DO R?*0000(e,b) eD0O00 f=f(z,y)0 DOOODDDOD 200000000

(1) fO (e,b)000000O0CODOODOOOOOOOOCODO p,gOOODOOOOOOOO

fl,y) = fla,b) = p(xz — a) + q(y — b) + o(||(z,y) — (a,0)]]) ((2,y) — (a,b))
oooo
im f(z,y) — f(a,b) —p(x —a) — q(y —b)
(z,y)—(a,b) V(z—a)?+ (y —b)?
(2) f0DOOOOOOOOOOOOfOPOOOOONOOODODODOOOOOOO

=0

gbobodgbbuooobtooooboouoobbooobobuoobbuoooboboobbg
gbobooboooobon



42. 00DOOO0ODOO 61

00 4.3 f0(¢,b)000000000000000000000p = fu(a,b)000 q= f,(a,b)
oooooo

00 0000 fla+h,b) — f(a,b) =ph+o(h) (h— 0000000

f(a+h7b)_f(aab):p_’_0(h)_)p (h—>0)

h h
0000000000 f0 (e,b)0 2000000000000 fi(a,b)=p000000OyODO
odoooooonooood

00004300020000 f0 (e,b))000000000000300000000 2= f(z,y)
00000 (a,b, f(a,b)) 000000000000

z = f(a,b) = fula,b)(z — a) + fy(a,b)(y = b)
0000000000

gooo43000000000000000O00DOOOODOODOODOODOOOODOO
goboogoobbooobooobboobboooboooboboooboooboboooboba
ggbodgbooobgobooobbooboobboobuooboon

00 44 f=f(z,y)0R2000 DO C'O0000O00f0DOOOOOOOOOO

00 (¢,b) e DO0O0O00OOOOO0DOOONONOOOOOOOOO00r>00000 (a,b)0
000000000 B(e,b)000 DOODOOOOOOOVREE 2 <r000000000
hkDODODOO f(a+h,b+k) — f(a,b) O

fla+h,b+k)— fla,b) = (f(a+h,b+k)— fla,b+k)) + (f(a,b+ k) — f(a,b))
000000000 0D0D000000 ¢, 000000000
o(t) := f(a+th,b+ k), P(t) := f(a,b+ tk)

O0000¢,wO0000O [0,1]0000000 (0,))000000D0O0O0ODOOOODOOODOOOO
0000000 61,0, (0,1) 000000

fla+hb+k) = fla,b+k) =¢(1) = ¢(0) = ¢/(61) = hfela+ 01k, b+ k)
fla,b+ k) = f(a,b) = ¥(1) = 9(0) = ¢'(02) = k fy(a, b+ 02k)

000000f, f,000000
|f(a+ h7b+ k) - f((l,b) - fx(aa b)h - fy(aa b)k|

Vh2 + k2
_|h(fela+01h,b+ k) — fo(a,b)) + k(fy(a,b+ b2k) — fy(a,b))|
- ﬂ7?P

< |fola+ 010, b+ k) — fola,b)| + | fy(a,b+ b2k) — fy(a,b)]

) «mm_qmm)

0000000 fO (e,b) 00000000000 0OOOOOODOODODO
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4.3 0O0OOOOOOO

00 450000000000 f=f(z,y) D R2000DOOO0000¢ = (k)9 = (t)
0000700000000 (¢(t),¢(t) € D (vt € )00000000000000000
F(t):= f(¢(t),y(t) 000 I0000000000000000

F'(t) = fa(6(t),0(1)¢' () + fy(6(t), 1 (£)9' ()

00 toe 0000000 0(zo,y0) = (6(te),%(tr)) € DOODO0DOOODODOO g = g(z,y)
0ooooooon

f(x,y) = f(xo,y0) — fa(®0,90)(x — 20) — fy(0,%0) (Y — v0)

V(@ —20)2 + (y — yo)? (@) # (20, 20)
0 ((2,) = (z0,20))

O00000f0 (zo,y0) 00 O0O0O0ODOODODOOO

lim  g(z,y) =0 = g(z0,%0)
(m,y)%(mo,yo)

0000¢g0 DOOOOOODOOOOOOOOOOOOO (r,yeDDOOOO

Fl@y) = f(0,90) = folo,y0) (@ — z0) + fy(0,10) (¥ — ¥o) + V/(z — 20)% + (y — y0)29(z,y)

000000000 000o0oo0oog (x,y) =(e(t),y) 00000000 t—-t,00OOO

w - fx(xo,yo)w + fy(xo,yo)w e (4.3)
0 0 0
ogooooooo
o) = ' VO — 60 T <;w<_t>t0— Do) Po((t), (1))
_ 2 . 2
- \/ (=) (M) et o)

— V(¢ (t0))? + (¢'(t0))2g(z0,50) =0 (t — to)

gooooo (43) goaooo t—>t0 gooo F/(to) = fx(JUo,yo)(]S/(to)—|—fy(330,y0)’¢/(t0) goo
gooooooooood

D0D0000000000000 f(z,y) D00 2=9(),y=+() 000000000000
000000000000000000000000

df _ofde , 0f dy

dt Oz dt Oy dt

045 f=f(r,y) DR?O0C?00¢=0¢),v =9v(#)0ROC?0000000000000
0000 Ft):= f(é(t),»(t)) D 20000 F'(t) 0 f,¢,00000000000000000
oooooag
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00 46000000000 D,QO0R20000f = f(z,y) 0 DOOOODOO0¢ = ¢(u,v),1 =
Y(u,v)0 Q000000000 (¢(u,v),¥(u,v)) €D (V(u,v) €Q)D000000000000
0000 F(u,v) := f((u,v),(u,0)) 000 QODODO000000000O0000O0

{ Fu(U,U) = fx(¢(u7v)’¢(u7v))¢u (u,v) + fy(¢(u7v)a¢(u7v))¢u (u,v)
Fy(u,v) = fo(o(u,v), Y(u,v))do(u,v) + fy(d(u, v), ¥ (u, v))y (u, v)

U0 OD000000«.000000000e=t00000v=¢t00000045000000
oooooood

(4.4)

000000000000000 f(z,y) 000 2z =¢(u,v),y=1uv) 0000000000
00000000000000000000000000

of _9for 0fdy  0f _9fdx  0fdy

ou  dxdu Oy ou’ dv  dxdv ' Oy dv
0000000000 y=f(w)Du=g(2)00000 y=f(g(z)) 00000
dy dyd_u

de  dudz

0000000000000 00dDO00000000000000 0000000000
0000duOD000000000000000000000000000000000000
0000000000000000000000000000(4.5) 0000000000 9z0
009y000000D0o0ooooné&E 4 ppgpo & -3 gpooooooooo
y Ou u
0000000000000000004:09y000000000D00DN0DN0DN0N0O0NDO

of ox , Of ofoy , of

Oxr du ’ Ou’ Oy ou " Ou

(4.5)

0000000000000000000000y=/f(x)0000z=f"'(y)00000

dx 1
- 4.6)
d (
dy 3

ooooooooooooooooboooooooooooooooooooooo
ox 1 oy 1
St et
Ou " St ou 8_5

obooooo20b0b00b00o0ob0obobooooobooboooooobobOooboooboDo
ggbogbogbboobouoabboobuooboobd

DDDDD%DDD %DDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
00000000000O0o0O0O0OOODODOO45) 00000 f=w,vODOOOODOOOOOOO
F(u,v)=uw,o000000000000COO00MOOOOOO00OOODOOOOOOOOOOO

gooooooo
ou  Ou ox 9z \ !
or Oy _ ou  Ov
or Oy ou  Ov

du  Ou or Oz
O _ (& &y ou v
0 1) | & & 9y Oy
or Oy ou  Ov

0000000 10000000000 (46)0200000000000000O0
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(44)000000000000O0O0OOODOOOOOOOOODOOOOOOOO

()-(o ) ()

00000000000 wODOO0O0O0000 z=9¢(u,v),y=v,v) 00000000000
00 fO02y00000000000 f,f,0wld0000000000 F, 0000000
goboobooobooooo

0 440000000 f=f(sy)0R?0000000000(,0)000000000 (z,y) =
(reosf,rsingd) 00000 000000000000 F(r,0):= f(rcosf,rsinf) 000000
00000460000000000

F.(r,0) = fz(x,y) cos 0 + fy(x,y)sinb
Fy(r,0) = —fo(z,y)rsin€ + fy(x,y)rcosb
gopoogood (x,y)DDDDDDDDDDDD (T,Q)DDDDDDDDDDDDDDDDDD

0000000000000 oooooooon
O00ooo0oooooo f,000 0000000
%f(m,y) = cos H%F(T,H) - %sinH%F(r, 0)
%f(az,y) = sin H%F(r, 0) + % cos H%F(r, 0)
gobouooooooobooooobuooooo
0 sinf 9 0 ,08 cos@ O
— =cosl)— — ——, — =sinf— —
ox or r 00 dy or r 00
ooooooooon

0*f 0°f O*F 10F 1 0°F

822 "0 o ror 12 ogE
00000000000000000 (x,y) 0000 LaplaceD00ODO0OOO0O (r,6) 00000
goodooooooood

046 0000f0R2000000 C?2000000f = f(z,y) 0 2 = ucosh — vsinhO
y=usinf+vcosd 0000000 F(u,v) := f(ucos —vsinb,usind + vcosb) (= f(z,y)) O
gobouooooooogoooooooon

(1) (Fulu,v))? + (Fo(u,v))? = (falz,9))? + (fy(z,9))
(2) Fuu(uav) + Fvv(uav) = fac;t(xay) + fyy(l':y)

4.4 200000 TaylorOO OGO O OO

00 4.6 f= f(x,y)O R2000O DOODODOOOOOOAKDODODOOOO00O0OO0OO
(g +kgp) f(@,y) = hfu(z,y) + kfy(z,y)
(ha% + k%)n+1f(az,y) = (ha% + ka%) ((ha% + ka%)nf(:vjy))

D000D00000 (b4 +42)" 000000000 (hZ+k2)°f=f000000000
00000000000000000000000
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DDDDfECOO(D)DDDD
2
(h + k) f = b2 fun + 2k fry + K2y
3
(h(?@z +k%) f:h3f:vacx+3h2kf:vacy+3h]€2fxyy—|—k‘3fyyy
goooooooooooboooon

0 - o f
(e +135) 1= ()t

00 4.70 Taylor 0000 f= f(z,y)0 R2000 DO C*"00 (a,b) € DOAKOODOO (a,b)
000 (a+hb+k) 00000 {(a+thya+tk)|0<t<1}0 DO000O0O00O0OOO0O0
000000000 ée(0,1)000000
n—1 j

1,0 0V 1/, 0 o\
h,b+k)= h—+k b) + = h—+k+ 0h,b+ 0k
fla+hb+k) ]ZO (aﬁ 8>f(a’)+n!<8:c+ 8y> fla+0h.b+ 0k)
00 o(t):=fle+th,b+tk)DO0DO0O00OO0 ¢0O0ODDO [0,1]000D000O0C"O0D00O0O0OO
00000100000000 TaylorO0OOO0O00 3.11000

n—1
I 1
— Z 7¢(])(0) + _‘¢(N)(9) (4.7)
— 9! n!
7=0
00006€(0,)000000000000000O0O0OOOD0 45000
d d
d@):fda+tmb+tmd(a+¢hy+ﬂxa+thb+tmd(b+tm

— fula+th,b+tk)h + fy(a+ th,b+ th)k

o 0
= (h% + ka—y>f(a + th,b+ th)

ggbogboodgbogoooodan

ox
|:J|:J|:|(4.7)D|:||:JDDDDDDDDDDDDDUDDDD

gb(j)(t) — (hﬂ + k%)]f(a + th,b+ tk)

OoobO0o Taylor OO OO 2000000000000 0ODO0ODODOO
00 4.7 DO R?0000(e,b) e D000 f=f(z,y) 0 DOODDODDOD 200000000

(1) fO (¢,b)00000000000000000C0O000O00000 r00000000
(z,y) eR20000000000000000OO
0<|(zy) = (a,b)| <r = f(z,y) < fla,b) (OO0 fla,y) < fa,b))

00000 f(e,b) 00000(e,b) 00000000
(2) fO (¢,) 000000000000 00O00O0C0OO00OO000O 00000000
(z,y) eR20000000000000000OO

0<[l(z,y) = (@bl <r = flz,y) > fla,d) (OOD f(z,y)> f(a,b)
00000 f(a,)00000(e,b) 00000000
(3) 0000000000000 000DO00D00000000N000o0NOon
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goood

10000 f=f(x) 0000000000 f(e)=0000 «000D0000OO0O0O0ODOOO
goooboooboboobobooob20000b00000b0ooobboob0oboboOoDO
goo

00 4.8 DOR20000(e,b) e D000 f=f(z,y)0 DOODODOOO0 200000000
f0 (a,b) 00000000000 (a,b)00000000 fu(a,b) = fy(a,b) =0000000

00 2000 ¢(z) == f(z,b)0 2 =e¢00000000002z=¢0000000000000
¢(a) = fo(a,b) =00000000000y000 ¢(y):=f(a,y) D y=b000000000
0y=b0000000000000¢(b)=f,(e,b)=00000000000

fo(a,b) = fy(a,b) =0000000000 fO (¢,b) 000000000000 DOOD 100
00000000000000002000000000100000000000000000
00000000000 0000000

0000 f(z,y) =2?—y*0000000000000 fo(z,y) = fy(z,y) =00000 (z,y) =
(0,0000000

r000 f(x,0) =220 x=0000
yO0O0O f(0,y)=—y*0y=0000

ooo0oooOoooofo(o,0)00000000O0OO0DO0OOO0OOOOOOOOOODOOD
gbobgboogoboboboobooobooobouobobobobooobobobobobd
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00 48 DOR?20000(eb) e DOO0 f=f(z,y) 0 DOODOOOO0 200000000
(a,0) 0 f0DD000000000000000 fo(a,b) = f,(a,b)=000000000000

gobooobooobooobboobbooobooobooobboobbooobbag
gbobooogoboboboooobooobobobooboooolobooooboboboo20000
ggbodbooobuooboobboaoboobooboan

00 490000000 DO R*0000(a,b) € DO feC?(D)0 fo(a,b) = fy(a,b) =000
00000DO0000000d=d(z,y)00000000

d(z,y) = fea(,y) fyy(x,y) — (fxy(if7y))2 ~ det < foa(2,y)  faoy(z,y) )

facy(xa Y) fyy(% Y)

a,b) >00000f0 (¢,0) 0000000
a,b) <00000f0 (a,b) 0000000
<00000f0 (a,b)000000000(e,b)0 f0000000O0

oo (1) DO0ODOO0O0O0OOOOOOOoOoOooOr»r>0o0oOoonO (a,b)DDDDDDDDTDD
Br(a,b)DDD DOO0ODO0O0OUOO0OVARE+Kk2<r000D00O0ODOO h,k 0000 d Taylor
goooono 47000

fla+h,b+ k) — f(a,b)

= fz(a,b)h + fy(a,b)k

1
+ §{h2fm(a+0h,b+0k) + 2Nk fry(a + Oh,b + 0k) + K fy (a + Oh, b+ 0k) }
O006#e(0,H)00000000OO0
A= frp(a+0hb+0k), B:= fuy(a+0hb+0k), C:= f,(a+0hb+0k)

gobooboooooboobooooo

fla+h,b+k)— f(a,b) = =(Ah* + 2Bhk + Ck?)
1
_ﬂ(
O0000AC — B? =d(a+6h,b+0k)0000000d(a,b) # 00 frr(a,b) 000000 h,k
000000000AC-B?00004d(a,b)00000000A0000 fr(e,d) 000000
O00o0o0o0oooooo ()yooooooo

(2) 0000000000

N —

Ah+ Bk)®* + (AC — B*)k*}

fla+hb+k)— f(a,b) = %(thQ +2Bohk + Cok?) + o(h* + k%) ((h,k) — (0,0))

00000000004y = fre(a,b), By = fay(a,b),Co = fyy(a,b) 00000000 AgCo—B2 < 0
OD00000A4,>00000000y=b600000 f00

fm+mm:f@m+%mﬁ+mﬁ)
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O0hA=0000000 (¢,0) 0000000000 Ag(xr —a)+ Bo(y—b)=000000 f0O0
1
f(a+ Boh,b — Agh) = f(a,b) — 5AO(Bg — ApCo)h? + o(h?)

OA=0000000 (¢,0)00000000O0OO(e,b)0 fOODDOODODOA <OD0OOOO
oboobobooooon

10000000000 3.150000000000f0000 0 f"e)=000000000
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gobooooboobooobobooboboooboboobboobobooobooobbooboba
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00 5.1 f0000I=[eb000000000000
(1) 00 I000Ata=sp<a1 <zp<-<z,=b00000
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m = inf f(z) (= inf{f(z) [z € I}),  M:= ilé];[)f(u’U) (= sup{f(z) |z € I})
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S(f) =sup{Sa(f)|A €D}, S(f) =nf{Sa(f)|A €D}
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(2)=(1): (5.3)000000000 AO000000¢000O0

ooboooboOooobooobooooooodDarbouxO0OOO0O 10 00O0O0O0ODO

| glgoﬁA(f) =S(f)=S(f) = | glgoﬁw)

ooobobobobobobobbobo¢bubuobuoboo

|A]—0



78 gs0 D000

0000000 f0I00000000000000S(f) (=S(f) 000000000000
()=(2): 00000 0000000000000 0000600000|A|<sODODDOO0
0000 AD0ODDOODODO¢000000000000
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